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NEW QUESTION 1
Match the term to the correct description.

Term Description

used for creating backup routes by implementing a

gt higher administrative distance

Floating

_ a distance vector protocol
Static Routes

an ipv4 link-state routing protocol that runs within

PF
OS5k an Autonomous System
O5PFv3 used to route traffic between Autonomous Systems
RIPv2 a routing protocol capable of routing IPv6 packets
A. Mastered

B. Not Mastered

Answer: A
Explanation:
Term Description
l__E;G_P__ jFIGating used for creating backup routes by implementing a
! . i Static Routes | higher administrative distance
| T R |
' F!aaltlng | RIPv2 a distance vector protocol
| Static Routes |
i £ _ .
e inf OSPEV) an ipv4 link-state routing protocol that runs within
an Autonomous System
e
OSPFv3 | BGP used to route traffic between Autonomous Systems
R
: RIPv2 OSPFv3 a routing protocol capable of routing IPv6 packets

NEW QUESTION 2

What is the process where a compute device converts logical data bits into the correct physical representation depending on the media?

A. Demodulation
B. Modulation

C. Propagation
D. Encapsulation

Answer: D
NEW QUESTION 3
Which two statements are true regarding Checkpoints on Aruba switches? (Choose two.)

A. Rolling back to a prior checkpoint triggers a reboot of the switch.
B. Stacking switches using VSF or VSX will disable the Checkpoint feature.

C. A checkpoint is a snapshot of the running-configuration and relevant metadata at the time the checkpoint was created.

D. System-generated checkpoints are created after a configuration change and 5 minutes of inactivity.
E. Checkpoints are available on AOS 5400R switches, as well as on all AOS-CX switches.

Answer: CE

NEW QUESTION 4

What is the login and password combination is used when first configuring an Aruba OS-CX switch from factory defaults?

A. Login admin and password field empty.
B. Login admin and password forgetme!
C. Login admin and password password.
Answer: B

NEW QUESTION 5
Match the switching term to the correct definition.
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Term

Broadcast Domain

Collision Domain

CSMA/CD

Forwarding Table

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Term

Broadcast Domain -
Broadcast Domain

Collision Domain

CSMA/CD

Forwarding Table

Forwarding Table

CSMA/CD

Collision Domain

NEW QUESTION 6

Definition
defines the group of devices that are on the same

network segment that are capable of receiving and
responding to frames destined to FF:FF:FF:FF:FF:FF

the FIB used by switches matching known-source mac-
addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared
medium, such as a hub, that is affected when two or
more frames are sent at the same time

Definition

defines the group of devices that are on the same
network segment that are capable of receiving and
responding to frames destined to FF.FF.FF:FF:FF:FF

the FIB used by switches matching known-source mac-
addresses to the layer one port they are learned on

the mechanism used by Compute NICs and
Switchports operating in half-duplex to detect and
recover from frame collisions

the segment of a network connected by a shared
medium, such as a hub, that is affected when two or
more frames are sent at the same time

Which two options are correct regarding the IEEE 802.11ax standard? (Choose two.)

A. allows transmissions of up to 4.8Gbps

B. is an emerging satellite connection standard to allow wireless access anywhere in the world

C. operates only in the 5GHz similar to 802.11ac
D. operates in both the 2.4GHz and 5GHz radios bands

E. is the first WLAN standard to no longer use electromagnetic signals to transmit data

Answer: AD

NEW QUESTION 7

What are two methods for remotely managing an Aruba AOS-CX switch? (Choose two.)

A. SNMPv2c

B. HTTPS

C. USB-C console
D. Telnet

E. SSH

Answer: BE

NEW QUESTION 8
Which option correctly describes a WAN network?
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A. a group of computer resources that communicates between geographically separate location
B. the connection between two separate buildings in the same campus

C. a network of devices over long distances but limited to within a single ISP

D. compute resources that are networked locally over wireless

Answer: A
NEW QUESTION 9

Refer to the exhibit.
SW1l§ show vlan

VLAN Name Status Feason Type Interfaces

T DEFAULT VLAN 1 wp ok default  <output omitted>
10 Engineering up ok static 1/1/1-1/1/7

20 Guest up ok static 1/1/11-1/1/14

The above command was applied to an Aruba AOS-CX 6300M 24-port switch with 4-port SFP56 uplinks. All ports are set as access switchports.

Which ports carry VLAN 1 traffic?

A. 1/1/8, 1/1/10, 1/1/5-1/1/24
B. 1/1/1-1/1/28
C. 1/1/1-1/1/24
D. 1/1/8-1/1/10, 1/1/5-1/1/28

Answer: D

NEW QUESTION 10
Refer to the exhibit.

Switch-A

Firewall

Switch-B

The above scenario shows a packet from the Server destined for the Firewall. Switch-A and Switch-B are bundled as VSF stack. The LAG between the VSF stack

and the firewall indicates a hash function to forward the packet on port 2/1/2.
Which statement is true regarding how Switch-A will forward the packet?

A. Switch-A will forward the packet on port 1/1/2. VSF will override the typical LAG hash function used for the physical interface selection.

B. Switch-A will drop the packe
C. Multi-Chassis lag to multi-chassis lag is not a supported feature of VSF.

D. Switch-A will encapsulate the packet using GRE to forward to Switch-B in order for the packet to egress on port 2/1/2 per the hash function.

E. Switch-A will forward the packet along the VSF link to Switch-B so that it will egress on port 2/1/2 per the hash function.

Answer: D

NEW QUESTION 10
Match the terms to the correct layer of the OSI model.
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Layer Term

| Transport Layer Frames

| Network Layer Packets

| Physical Layer RF Signals
| Data Link Layer Segments
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Layer Term

| Transport Layer | |Data Link Layer | Frames

|Network Layer | |Network Layer | Packets

B —

|Physical Layer | Physical Layer | RF Signals
[Data Link Layer | ITFEH]S[JDFI Layer I Segments

NEW QUESTION 11
Refer to the exhibit.

watchlog/3
dbus—-daemon
intfd
extd-rsv—conver
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cpuhp/3
kworker/4:0
scsi tmf 4
kworker/5:1H
smartd
fault-handlerd
btd

portd
migration/4
scsi tmf 1
kworker/2 :0H
kauditd

rmond

certmgr

icmp6 unreachab
Core—1#

The above output is the result of issuing the command show system resource-utilization. What command should be used to enable terminal output line by line or
page by page?
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A. The command page

B. The command terminal length 30
C. The command more

D. The command less

Answer: A

NEW QUESTION 15
What are two primary concerns regarding layer two loops in a redundant topology? (Choose two.)
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A. routing loops

B. costs associated with upgrading from copper to fiber

C. multiple frame copies leading to instability of the MAC address table

D. security issues with a redundant loop indicating to hackers that a back-door exists
E. broadcast storms

Answer: CD

NEW QUESTION 16
Which switch supports a maximum of 8 line-cards, 3 fabric modules, and 2 management cards?

A. Aruba 8400
B. Aruba 8408
C. Aruba 6410
D. Aruba 5412r

Answer: A

NEW QUESTION 19
What are two available options as part of a DHCP offer message? (Choose two.)

A. SSID

B. DNS server IP
C. Subnet Mask
D. LLDP-MED

E. VLANID

Answer: BC

NEW QUESTION 23
Refer to the exhibit

Access-1 Allowed VLANS Access-2
1,10,20,255
1/1/28
VLAN-20 > 1/1/3
_J
PC-1 Server-1
IP :10.1.20.100/24 IP  :10.1.20.200/24
MAC: 00...:37 MAC: 90.....00

Which command on Access-2 port 1/1/4 will enable connectivity between PC-1 and Server-1 without any routing enabled in the network?

A. Access-2 (config-if-1/1/4)# vlan access 1, 10, 20, 255
B. Access-2 (config-if-1/1/4)# vlan access 20

C. Access-2 (config-if-1/1/4)# vlan 20 untag 1/1/4

D. Access-2 (config-if-1/1/4)# vlan trunk allow 1, 10, 255

Answer: B

NEW QUESTION 24
What is the Link Layer Discovery Protocol?

A. a discovery protocol used between Layer 3 devices to determine routes within a single autonomous system

B. a standardized IPv6 neighbor discovery protocol used to replace the ARP and broadcast mechanism used in IPv4
C. a standardized protocol for communicating directly-connected device information and capabilities.

D. an Aruba proprietary discovery protocol supported in all Aruba switches along with Cisco Discovery Protocol or CDP

Answer: C

NEW QUESTION 28

Which two port characteristics must match between LAG interfaces? (Choose two.)
A. Port number

B. Duplex

C. Member ID
D. Media type
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E. Chassis number

Answer: BD

NEW QUESTION 33
Aruba Access Points tunnel traffic in a campus to the Mobility Controller using which protocol?

A. Control and Provisioning of Wireless Access Points (CAPWAP)
B. Generic Routing Encapsulation (GRE)

C. Lightweight Access Point Protocol (LWAPP)

D. Process Application Programming Interface (PAPI)

Answer: B

NEW QUESTION 37
Refer to the exhibit.

The Aruba 8400 in the exhibit is member 2 of a VSX stack.
Which command will enter the interface sub configuration mode for the port, indicated by the orange square?

A. 8400(config)# interface 2/4/15
B. 8400(config)# interface 1/7/16
C. 8400(config)# interface 1/4/15
D. 8400(config)# interface 2/3/17

Answer: A

NEW QUESTION 39
Refer to the exhibit

Access-1(config)# show wlan

ir % 5 - o o oy o - - - ¥ - — R ——
VILAN Name acAtus Feason T ype Interfaces

R LTT W M YoEd i |2 [ - F ] R f Ffao
. DEFAULT VLAN 1 up S K defaul 1/1/1-1/1/2
50 Engineering down no member port static

What is true regarding VLAN 50 according to the diagram above?

A. VLAN 50 is part of a switched virtual interface (SVI) that was never routed causing it to be down.
B. Since VLAN 50 has not been assigned to any enabled physical port, the status is down.

C. VLAN 50 is assigned only to Trunk ports which is why no ports are listed under interfaces.

D. VLAN 50 was never added to the vlan-database and therefore is in a down state.

Answer: B

NEW QUESTION 40

What connectivity commands are available on AOS-CX switches? (Choose two.)
A. netstatus

B. traceroute

C. ping
D. pathping
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E. tracert

Answer: BC

NEW QUESTION 43
Which network category applies to a SOHO internal network?

A. SD-WAN
B. LAN

C. WAN

D. Internet

Answer: D

NEW QUESTION 47
Which Ethernet port combination does the Aruba 5400R ZL2 switch series support?

A. 10/100 Megabit Ethernet, Gigabit Ethernet, and 100 Gigabit Ethernet

B. Gigabit Ethernet, 25 Gigabit Ethernet, and 40 Gigabit Ethernet

C. 10/100 Megabit Ethernet, Gigabit Ethernet, 25 Gigabit Ethernet, and 100 Gigabit Ethernet
D. 10/100 Megabit Ethernet, Gigabit Ethernet, and 40 Gigabit Ethernet

Answer: D

NEW QUESTION 50
Which two options are the Layer 3 Routing protocols? (Choose two.)

A. BGP

B. LLDP
C. OSPF
D. MPLS
E. 802.3ad

Answer: AC
NEW QUESTION 51
Which two statements accurately describe stacking with Aruba switches? (Choose two.)

A. A VSF stack is allowed between an AOS-CX 6300M and 6300F switches.

B. VSF is a core or aggregation layer stacking technology due to the high resiliency of sharing a single control plane.

C. The VSF feature is not compatible between AOS-CX and AOS platforms.
D. A VSF stack is allowed between an AOS 5400R and an AOS-CX 6400.
E. VSF and VSX are stacking option with the AOS-CX 8320. 8325. 8400. and 6400 models.

Answer: BE

NEW QUESTION 52
You have completed a successful VSF stack between two switches.

Without manually assigning a backup switch, what is the expected output when issuing a show vsf command?

A T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID
1  88:3a:30:a3:e5:40 JL660A Commander
2 88:3a:30:a6:d9:80 JL660A Secondary

% 7T1-6300-A# show vsf

<omitted>
Mbr Mac Address type Status ID

1  88:3a:30:a3:e5:40 JL660A Primary
2  88:3a:30:a6:d9:80 JL660A Secondary
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¢ T1-6300-A# show vsf
<omitted>
Mbr Mac Address type Status ID

1 88:3a:30:a3:e5:40 JL660A Master
2 88:3a:30:a6:d9:80 JL660A Member

° T1-6300-A# show vsf
<omitted >
Mbr Mac Address type Status ID

1  88:3a:30:a3:e5:40 JL660A Master
2 88:3a:30:a6:d9:80 JL660A Standby

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 53
Refer to the exhibit.

Core-1 Port 1/1 Core-2 Port 1/2
10.1.1.1/30 10.1.1.2/30

f.—"f '\__‘k

il "
i ¥
" Y|

Core-1 Core-2

M
\\\H Core-2 Port 1/3

"10.1.20.181/24
e——e1.10.1.20.1/24

Traffic is failing between Core-1 and Host-B. IP addressing has correctly been applied, and all interfaces are attached to the vif GREEN.

Which configuration will correct the issue?

A. Core-2(config)# ip route 0.0.0.0/0 10.1.1.1 vrf GREEN Host-B: assign the default-gateway address 10.1.20.181
B. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vif GREEN Host-B: assign the default-gateway address 10.1.20.181
C. Core-1(config)# ip route 10.1.20.0/24 10.1.1.2 vif GREEN Host-B: assign the default-gateway address 10.1.20.1

D. Host-B: assign the default-gateway address 10.1.20.181

Answer: B

NEW QUESTION 57
Match each network protocol to the correct server listening port. Not all answers will be used.
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Server Listening Port

20,21 |

67

68

80 |

443

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Diagram Description automatically generated

NEW QUESTION 62
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